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MAT257 Analysis Il on January 25, 2021: Alternating Tensors. | / ) V, Y
) L) /) AN
TT2: Not yet. "[, ‘7 Y
_ Read Along: Spivak 75-85. ) Vi j\:f—
Riddle Along: The Cantor set C is of measure 0. Is the same true for C+C={x+y: x,y in C}? ! ! U
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MATZ257 Analysis Il on January 27, 2021: More on alternating Tensors. / i
Read Along: Spivak 75-85.

- TT2 results sent! Appeals deadline Friday Feb 5 at 5PM. a\

HW12 is on Crowdmark! \ o
~ Riddle Along: n red points and n blue points are placed in the plane with

no 3 on the same line. Prove that it is possible to pair them up using n \
straight line segments so that no two of the segments will intersect.
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MATZ257 Analysis Il on January 29, 2021: More on alternating

tensors: a basis, an aside, a product. >
-~ Read Along: Spivak 75-85.

Zoom recording today!
~ Monday -> Monday HW cycle? S,

Riddle Along: Can you hang a medal on 2 nails so that if you remove
any one of them, the medal will fall? Same with 3 nails? And 47
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